	PELO :

	no
	Comptes
	Libellé
	Montants

	
	Débit
	Crédit
	
	Débit
	Crédit

	1
	CCA
	Achats Marchandises
	 
	2000
	2000

	2
	Rien à comptabiliser

	3
	Téléphone
	CAP
	128 = 107.7%, X = 100%
	118.85
	118.85

	4
	Rien à comptabiliser

	5
	CCA
	Charge véhicules
	 
	900
	900

	6
	CCA
	Charges immeuble
	 
	900
	900

	7
	RR Accordées
	CAP
	 
	10000
	10000

	8
	Salaire
	CAP
	 
	12000
	12000

	9
	Ventes marchandises
	PCA
	 
	600
	600

	10
	Rien à comptabiliser

	11
	Rien à comptabiliser

	12
	Frais d'achats
	CAP
	 
	90
	90

	13
	Amortissements
	Cumul d’amort s/ machines
	100'000 / 5
	20'000.-
	20'000.-

	14
	Charges immeubles
	Immeuble
	
	120'000.-
	120'000.-

	15
	Amortissements
	Véhicules
	10'770.- ttc = 10'000 h.t.
10'000.- / 4
	2'500.-
	2'500.-

	16
	Amortissements 
	Outillage
	30'000 = valeur après 1 amortissements = 75%. 
	10'000.-
	10'000.-
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